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She has two ________.

Answer: ___________________

They bought five ________.

Answer: ___________________

I have three ________.

Answer: ___________________

We need four ________.

Answer: ___________________

He has ten ________.

Answer: ___________________

You bought six ________.

Answer: ___________________

She has seven ________.

Answer: ___________________

They need eight ________.

Answer: ___________________

I have nine ________.

Answer: ___________________

We bought twelve ________.

Answer: ___________________



Answers

She has two ________.

Answer: cats

They bought five ________.

Answer: pencils

I have three ________.

Answer: books

We need four ________.

Answer: chairs

He has ten ________.

Answer: apples

You bought six ________.

Answer: shirts

She has seven ________.

Answer: friends

They need eight ________.

Answer: chocolates

I have nine ________.

Answer: siblings

We bought twelve ________.

Answer: cups


